Name ______________________________________ Core _____ Date ________________ Due Date ______________
Problem Set #8



Show work OR write an explanation of how you arrived at your answer. Work or explanation is required for each problem to receive credit!! Write the letter of your final answers in the answer box. You may use a calculator. 
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	For Questions 1 and 2, use the figure below. Use 3.14 for (.

1. Which of the triples listed is a not a Pythagorean Triple?

       A 3, 4, 5      B 15, 36, 39      C 8, 15, 17      D 12, 35, 38

2. In a right triangle the hypotenuse is 25 and one of the legs is 20.  What is the length of the other leg?
      A 15             B 19                  C 20                D 12.5
3. Suzy is standing in a field.  She walks 15 meters due north and then walks 13 meters due west.  What is the shortest distance in meters Suzy is from her starting point?  Round to the tenths.


A 7.5

B 19.8

C 20.1

D 8

4. Which set of number IS a Pythagorean triple?
            A 3, 4, 6           B 5, 12, 13      C 7, 8, 11      D 12, 15, 20
5. Winona is building a deck. She needs to be sure the frame forms right angles in the corners. She measured out 6 feet in one direction and 8 feet in the other to form a right angle. How far apart should these 2 points be to ensure the angle is a right angle?

A 14 feet
 B 12 feet
C 10 feet 
D 6 feet

6. An antenna consists of fifty 10-foot sections. Attached to the top of the antenna is a guy wire which is attached to the ground 350 feet from the base of the antenna. To the nearest foot, how long is the guy wire?

   A 3,500 feet 
B 610 feet 
C 500 feet 
D 360 feet


	7.  Justin wanted to figure out how far above the ground a bird nest in a tree was. He leaned his 25 foot ladder against the tree so the top of the ladder just reached the nest, as shown in the figure. He then measured the distance from the bottom of his ladder to the base of the tree directly underneath the nest. This distance was 7 feet. How high above the ground is the bird nest?
A 24 feet 
B 20 feet
C 18 feet
 D 13 feet

8. Tereika leaves home and bikes 2 miles south, 3 miles west, 1 mile south, and 1 mile west.  Which triangle could be used to find the distance Tereika is from home?
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9.  Using the answer from number 8, how far is Terieka from her home?


A 3 miles
B 4 miles
C 5 miles
D 6 miles

10.  The height of a stage being built for a bluegrass festival in Rocky Mountis 10 feet. The base of a ramp must be 9 yards from the base of the stage. How long will the ramp be, to the nearest tenth of a yard?

A 13.5 feet
 B 13.5 yards
 C 9.6 yards 
D 29 feet
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